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corresponding CO and PO are written within parentheses'
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b) Consider the assembly language instructions in Code Snippet I'

LOAD Rlr NUMI ;Load the value at memory address NUMI into regtster El
LOAD R2' NUM2 ;Load the value at memory address NUM2 into register R2
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Code Snippet 1: Assembly Instructions for Question 1-b)

show the execution steps of each instruction with the help of CPU reglsters lnalntalnlng
their execution order.

clustered systems? Justib Your choice'
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the overall efhciency and functionality of the operating SYstem'
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opers address these challenges to ensure broader compatibilitY

c) How does the modular kernel approach compare to the layered approach in terms of simi-
larities and differences?
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ing operating system.

b ) : : =1(\ A ) I= : c=aTIis IT=: : 1:n\\ Fr: : : E ][:LI t:::: :i:pr ;TEFI : :: rTulsTiE :: :=: :IO :::TIlllet
the two IPC techniques for each of the following scenarios:

i. In a High-Performance Computing (HPC) cluster, wpere.mulUEl E.nodes collaborate on

complex simulations like weather forecasting or molecular modeling' J

ii in a kelationa1 Database Management System (RDBMS), where multiple processes need
concurrent access and modification of data.

c) Explain the concepts of zombie processes and orphan processes in an Operating SYstem
' Di;cuss the potential implications of leaving these processes unmanaged
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